
10274 10274.5 10275 10275.5 10276
cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

3−

2.5−

2−

1.5−

1−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

8046

8046.5

8047

8047.5

8048

8048.5

8049

8049.5

8050

ru
n

run:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8048}



10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1us
l_

1X
usl_1X:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
l_

4a
Y

usl_4aY:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
X

usl_4eX:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
Y

usl_4eY:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
l_

12
X

usl_12X:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

8046

8046.5

8047

8047.5

8048

8048.5

8049

8049.5

8050

ru
n

run:cyclenum {run == 8048}



10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
r_

1X
usr_1X:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
r_

4a
Y

usr_4aY:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
X

usr_4eX:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
Y

usr_4eY:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
r_

12
X

usr_12X:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

8046

8046.5

8047

8047.5

8048

8048.5

8049

8049.5

8050

ru
n

run:cyclenum {run == 8048}



10274 10274.5 10275 10275.5 10276
cyclenum

16241.5

16242

16242.5

16243

16243.5

us
l_

co
il1

usl_coil1:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

2346

2346.2

2346.4

2346.6

2346.8

2347

2347.2

2347.4

2347.6

2347.8

2348

2348.2

us
l_

co
il3

usl_coil3:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

5577.5

5578

5578.5

5579

5579.5

us
l_

co
il4

usl_coil4:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

2868.5−

2868−

2867.5−

2867−

2866.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
l_

co
il7

usl_coil7:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

8046

8046.5

8047

8047.5

8048

8048.5

8049

8049.5

8050

ru
n

run:cyclenum {run == 8048}



10274 10274.5 10275 10275.5 10276
cyclenum

14828−

14827.5−

14827−

14826.5−

14826−us
r_

co
il1

usr_coil1:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

2194−

2193.5−

2193−

2192.5−

2192−us
r_

co
il3

usr_coil3:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

5984.5

5985

5985.5

5986

5986.5

us
r_

co
il4

usr_coil4:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

2876.5−

2876−

2875.5−

2875−

2874.5−us
r_

co
il6

usr_coil6:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

us
r_

co
il7

usr_coil7:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

8046

8046.5

8047

8047.5

8048

8048.5

8049

8049.5

8050

ru
n

run:cyclenum {run == 8048}



10274 10274.5 10275 10275.5 10276
cyclenum

132.5−

132−

131.5−

131−

130.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

8.5

9

9.5

10

10.5

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

229.5−

229−

228.5−

228−

227.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

28−

27.5−

27−

26.5−

26−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8048}



10274 10274.5 10275 10275.5 10276
cyclenum

293.5

294

294.5

295

295.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

110−

109.5−

109−

108.5−

108−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

274

274.5

275

275.5

276

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

139.8−

139.6−

139.4−

139.2−

139−

138.8−

138.6−

138.4−

138.2−

138−

137.8−

137.6−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8048}



10274 10274.5 10275 10275.5 10276
cyclenum

239.8−

239.6−

239.4−

239.2−

239−

238.8−

238.6−

238.4−

238.2−

238−

237.8−

237.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

86−

85.5−

85−

84.5−

84−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

8.8−

8.6−

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

7−

6.8−

6.6−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

4

4.5

5

5.5

6

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

1−

0.5−

0

0.5

1

12
X

_c
oi

l7
12X_coil7:cyclenum {run == 8048}

10274 10274.5 10275 10275.5 10276
cyclenum

8046

8046.5

8047

8047.5

8048

8048.5

8049

8049.5

8050

ru
n

run:cyclenum {run == 8048}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


